_980-2_ xoy T (RUSLyyI Y BREIVIVE
(Ty ¥ 2—1) v R&Y -+ (B8)

XX

1005+10
1000

] X XX

2

ERYL YV

o,
2

TXXA

RS

BRRRRRRRKA

B9 le%eS0se%es0s0se%s
RIS =

TSR 050000 %00.9:0:9:%

1900020909590 9% % o%% -
IR =
IR
AR N

0% 4
R 0RILRRINKILRIALS
190%0 09009
SSKKRXK
BoSstotetetete!
0%6%6% %%
pSototeteds
33X

v
1%

X

Sty — b (8) m EHrLs e
) — v \_ N
(98~ 108 ¢ REY - bG8

EBYL YV
BB =% 46

&y — b (B8
(9B~ 108

K (R H L 5Y)

7
ZIEERLIERKK
TERRELRIRIA
TRIIIRKIKES
SZRIKKIKIREK

3RS

&
555

K

%% %%

b3t
o0
028,
020!
o
XK
0
%!

O
X

X

(XX

%
X
L

KKK

X
XK
S
o%
KRXK
SR
o
%
o%
2
<>
XX
%
%
S

0%
%%
X
1950000,
t.%‘

K&ty — b (8)
o)1

Xy v VY74
S

aE (RUoL5Y)

]
K

50

©200+5

o % RAPI-VIATRY 4 7

A= BE S

NOKIKRSH

LATR—100—-250—R

FP1404E0

vAd
=




